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OM efficiency in the routine phase: Revs 2001 to 3000

Scheduled Science : 89981 ks
st Performed Science : 86283 ks EEASR
m - o m
o (8] —
5 . = . 5 9 3
E = En g i g G = 2
> = —
160000 = 8 59 So = 5 S < 5 160000
& 8 :‘Et b o & c £ g g UC)
c Q@ - frepus c
2 3 o e S 23 S 3 g 2 S
O O w F= Z £ S I} S 65
140000 — e o peeel? | - L+ 1\ {11 I —| 140000
| ||
120000 | = | 1s ' | | | | | ] -~ 120000
| T | if I
i AN I T M Y
| | | | | J I
100000 (- | P | df A N | ! i | - | { m 100000
AL N R
| | ‘ ' ' ‘
1R 1L W \ | | I ’ | il I
Al || 1) ; NS i NI LIl
gooo0 4 1111 it T i""’i I LI T I* 1S O 1 r i iy | L’ TN L LALL  L ‘ 80000
| | |
I I[ (/R LR ] I | "
| | H || | l | | "
600001 | it || Il .41 o | L) L ‘_ A l | | = | ’ ‘11 60000
| |
| ‘ | Wil 1| ‘ | | | |
| ‘ Rl
1
40000 - - I | | sl | [ 40000
| |
20000 - - 20000
-+ IR ] 10 0 5 T T S T T MEYERRERI - |
S I P %S D WD (DS Y B (D (B S Y B B (S Y B @ S &y b G S b al SV b VSl S Y S b S g S SVl s v G
ARG O A Ay DAY P Ak AV A iR A a2 A By X ol e d2iAR A0 a0 4T A0 R 0 A0 qT N AN N N AR R A DT AP P o
REV #
Performed Science I Solar Flares [ G/S Problem I Inst Problem I Support other S/C [l S/C Problem Science Win




